
Based on information in both print texts and the video, write an 
essay arguing whether Gaylord Nelson’s original concerns about 
the environment have been addressed. 
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Synthesis

Based on information in both print texts and the video, write an 
essay arguing whether Gaylord Nelson’s original concerns about 
the environment have been addressed. 

NO. Still don’tNO. Still don’t
care enough; care enough; 
still pollute still pollute 

& waste& waste
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Although environmental awareness has increased, Although environmental awareness has increased, 
the statistics show that most people don’t care the statistics show that most people don’t care 
enough to curb their pollution and waste.enough to curb their pollution and waste.

Repeat key words from the prompt…

…and state the synthesis.
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Although environmental awareness has increased, Although environmental awareness has increased, 
the statistics show that most people don’t care the statistics show that most people don’t care 
enough to curb their pollution and waste.enough to curb their pollution and waste.

Source 2 cited Source 2 cited “Americans use 100 gallons of “Americans use 100 gallons of 
water per day”water per day” (that is  (that is “100,000 gallons“100,000 gallons  per year”),per year”),  
and yet and yet “only 1% of the world’s water”“only 1% of the world’s water” is  is “usable.” “usable.” 

Repeat key words from the prompt…

…and state the synthesis.

Source 1 states…
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Although environmental awareness has increased, Although environmental awareness has increased, 
the statistics show that most people don’t care the statistics show that most people don’t care 
enough to curb their pollution and waste.enough to curb their pollution and waste.

Source 2 cited Source 2 cited “Americans use 100 gallons of “Americans use 100 gallons of 
water per day”water per day” (that is  (that is “100,000 gallons“100,000 gallons  per per 
year”),year”), and yet  and yet “only 1% of the world’s water”“only 1% of the world’s water” is  is 
“usable.” “usable.” This excessive water use can come from This excessive water use can come from 
long, leisurely showers and/or maintaining lush long, leisurely showers and/or maintaining lush 
green lawns. This sense of entitlement is reckless. green lawns. This sense of entitlement is reckless. 
Regardless of the reason, wasting water at this Regardless of the reason, wasting water at this 
rate will likely create a scarcity for all.rate will likely create a scarcity for all.

Repeat key words from the prompt…

…and state the synthesis.

Source 1 states…

 This is important 

 
because…
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Although environmental awareness has increased, Although environmental awareness has increased, 
the statistics show that most people don’t care the statistics show that most people don’t care 
enough to curb their pollution and waste.enough to curb their pollution and waste.

Source 2 cited Source 2 cited “Americans use 100 gallons of “Americans use 100 gallons of 
water per day”water per day” (that is  (that is “100,000 gallons“100,000 gallons  per per 
year”),year”), and yet  and yet “only 1% of the world’s water”“only 1% of the world’s water” is  is 
“usable.” “usable.” This excessive water use can come from This excessive water use can come from 
long, leisurely showers and/or maintaining lush long, leisurely showers and/or maintaining lush 
green lawns. This sense of entitlement is reckless. green lawns. This sense of entitlement is reckless. 
Regardless of the reason, wasting water at this Regardless of the reason, wasting water at this 
rate will likely create a scarcity for all.rate will likely create a scarcity for all.

Source 3 reported that only Source 3 reported that only “200 million people “200 million people 
participated”participated” in the  in the “20th Anniversary celebration.”“20th Anniversary celebration.”  

Repeat key words from the prompt…

…and state the synthesis.

Source 1 states…

 This is important 

 
because…

Similarly, Source 2…
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Although environmental awareness has increased, Although environmental awareness has increased, 
the statistics show that most people don’t care the statistics show that most people don’t care 
enough to curb their pollution and waste.enough to curb their pollution and waste.

Source 2 cited Source 2 cited “Americans use 100 gallons of “Americans use 100 gallons of 
water per day”water per day” (that is  (that is “100,000 gallons“100,000 gallons  per per 
year”),year”), and yet  and yet “only 1% of the world’s water”“only 1% of the world’s water” is  is 
“usable.” “usable.” This excessive water use can come from This excessive water use can come from 
long, leisurely showers and/or maintaining lush long, leisurely showers and/or maintaining lush 
green lawns. This sense of entitlement is reckless. green lawns. This sense of entitlement is reckless. 
Regardless of the reason, wasting water at this Regardless of the reason, wasting water at this 
rate will likely create a scarcity for all.rate will likely create a scarcity for all.

Source 3 reported that only Source 3 reported that only “200 million people “200 million people 
participated”participated” in the  in the “20th Anniversary celebration.”“20th Anniversary celebration.”  
With billions of people in the world, that represents With billions of people in the world, that represents 
only a small fraction of the overall population. So only a small fraction of the overall population. So 
many more people chose not to participate.many more people chose not to participate.

Repeat key words from the prompt…

…and state the synthesis.

Source 1 states…

Similarly, Source 2…

 This is important 

This matters because…

In other words…

 
because…

© Smekens Education  |  SmekensEducation.com



Although environmental awareness has increased, Although environmental awareness has increased, 
the statistics show that most people don’t care the statistics show that most people don’t care 
enough to curb their pollution and waste.enough to curb their pollution and waste.

Source 2 cited Source 2 cited “Americans use 100 gallons of “Americans use 100 gallons of 
water per day”water per day” (that is  (that is “100,000 gallons“100,000 gallons  per per 
year”),year”), and yet  and yet “only 1% of the world’s water”“only 1% of the world’s water” is  is 
“usable.” “usable.” This excessive water use can come from This excessive water use can come from 
long, leisurely showers and/or maintaining lush long, leisurely showers and/or maintaining lush 
green lawns. This sense of entitlement is reckless. green lawns. This sense of entitlement is reckless. 
Regardless of the reason, wasting water at this Regardless of the reason, wasting water at this 
rate will likely create a scarcity for all.rate will likely create a scarcity for all.

Source 3 reported that only Source 3 reported that only “200 million people “200 million people 
participated”participated” in the  in the “20th Anniversary celebration.”“20th Anniversary celebration.”  
With billions of people in the world, that represents With billions of people in the world, that represents 
only a small fraction of the overall population. So only a small fraction of the overall population. So 
many more people chose not to participate.many more people chose not to participate.

These details prove that Nelson’s concerns have These details prove that Nelson’s concerns have 
not been addressed since the vast majority of not been addressed since the vast majority of 
people do not believe the severity of the problem people do not believe the severity of the problem 
needs to impact their lives. needs to impact their lives. 

Repeat key words from the prompt…

…and state the synthesis.

Source 1 states…

Similarly, Source 2…

These details demonstrate… 		

because…

 This is important 

This matters because…

In other words…

 
because…
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Repeat key words from the prompt…

…and state the synthesis.

Source 1 states…

Similarly, Source 2…

These details demonstrate… 	

because…

 This is important  

because…

This matters because…

In other words…

INTRODUCTION
Synthesis

Based on information in both print texts and the video, write an 
essay arguing whether Gaylord Nelson’s original concerns about 
the environment have been addressed. 

Although environmental awareness has increased, the statistics show that most people Although environmental awareness has increased, the statistics show that most people 
don’t care enough to curb their pollution and waste.don’t care enough to curb their pollution and waste.

Source 2 cited Source 2 cited “Americans use 100 gallons of water per day”“Americans use 100 gallons of water per day” (that is  (that is “100,000 gallons“100,000 gallons  
per year”),per year”), and yet  and yet “only 1% of the world’s water”“only 1% of the world’s water” is  is “usable.” “usable.” This excessive water use This excessive water use 
can come from long, leisurely showers and/or maintaining lush green lawns. This sense can come from long, leisurely showers and/or maintaining lush green lawns. This sense 
of entitlement is reckless. Regardless of the reason, wasting water at this rate will likely of entitlement is reckless. Regardless of the reason, wasting water at this rate will likely 
create a scarcity for all.create a scarcity for all.

Source 3 reported that only Source 3 reported that only “200 million people participated”“200 million people participated” in the  in the “20th Anniversary “20th Anniversary 
celebration.”celebration.” With billions of people in the world, that represents only a small fraction  With billions of people in the world, that represents only a small fraction 
of the overall population. So many more people chose not to participate.of the overall population. So many more people chose not to participate.

These details prove that Nelson’s concerns have not been addressed since the vast These details prove that Nelson’s concerns have not been addressed since the vast 
majority of people do not believe the severity of the problem needs to impact their majority of people do not believe the severity of the problem needs to impact their 
lives. lives. 
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NO. Still don’tNO. Still don’t
care enough; care enough; 
still pollute still pollute 

& waste& waste



Repeat key words from the prompt…

…and state the synthesis.

Source 1 states…

Similarly, Source 2…

These details demonstrate… 	

because…

 This is important  

because…

This matters because…

In other words…

Repeat key words from the prompt…

…and state the synthesis.

Source 1 states…

The author of 

These details demonstrate… 	

because…

 This is important  

because…

This matters because…

In other words…

INTRODUCTION

Source 3 implies…

Synthesis

BODY ¶2

Based on information in both print texts and the video, write an 
essay arguing whether Gaylord Nelson’s original concerns about 
the environment have been addressed. 

Although environmental awareness has increased, the statistics show that most people Although environmental awareness has increased, the statistics show that most people 
don’t care enough to curb their pollution and waste.don’t care enough to curb their pollution and waste.

Source 2 cited Source 2 cited “Americans use 100 gallons of water per day”“Americans use 100 gallons of water per day” (that is  (that is “100,000 gallons“100,000 gallons  
per year”),per year”), and yet  and yet “only 1% of the world’s water”“only 1% of the world’s water” is  is “usable.” “usable.” This excessive water use This excessive water use 
can come from long, leisurely showers and/or maintaining lush green lawns. This sense can come from long, leisurely showers and/or maintaining lush green lawns. This sense 
of entitlement is reckless. Regardless of the reason, wasting water at this rate will likely of entitlement is reckless. Regardless of the reason, wasting water at this rate will likely 
create a scarcity for all.create a scarcity for all.

Source 3 reported that only Source 3 reported that only “200 million people participated”“200 million people participated” in the  in the “20th Anniversary “20th Anniversary 
celebration.”celebration.” With billions of people in the world, that represents only a small fraction  With billions of people in the world, that represents only a small fraction 
of the overall population. So many more people chose not to participate.of the overall population. So many more people chose not to participate.

These details prove that Nelson’s concerns have not been addressed since the vast These details prove that Nelson’s concerns have not been addressed since the vast 
majority of people do not believe the severity of the problem needs to impact their majority of people do not believe the severity of the problem needs to impact their 
lives. lives. 

Source 3 implies…

BODY ¶2

Repeat key words from the prompt…

…and state the synthesis.

Source 2 includes…

This same idea is 

These details demonstrate… 	

because…

 This is important  

because…

This matters because…

In other words…

CONCLUSION

revealed in Source 3…

Synthesis

Synthesis
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NO. Still don’tNO. Still don’t
care enough; care enough; 
still pollute still pollute 

& waste& waste


